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The figures in the margin indicate
- full marks for the questions

Answer either in English or in Assame'se.' |
1. AnsWer the foHoWing: ” - 1x8=8

(a) DlStlngUISh between prlma.ry data and
4 secondary data. :

"1l w2y W (o wa MLy fBrany
(b) Give an example of. .a. .study where

complete enumeratlon cannot be
undertaken. :
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system participant.

:  ~(h)

" index number.

At

S o )
Define ‘coefficient of variation’.
‘@rel eei' e fEl|

. -

Fisher’s index number is a weighted
(Write true or false)
N .
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What measure of central tendency is
used to calculate the HDI?

HDI ﬂwaﬁﬁa@@ammmd
FJEI|M .

Define economic growth of country.
QI (IR ST T ket oy
Give an example of an informal financial

A e W w'fﬂmaa Ginfvesil
e

What constitutes.the primary sector of
©. Jan‘economy? .

94 SRR el Q! RaE ﬂﬁ@'{ﬂ?
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Answer any six. from the. followmg

 questions :

2x6=12

wﬁmwﬁmwm

(b)
,(C)

(@

| (a) Distinguish between. a parameter and

a statlstlc
BT W AT ALy Tl

How is the medlan calculated for a
continuous senes ?

<ot iR AR w s Rt w1 2

Why is index numbers said to be
economic barometer ?

T ﬂ“%ﬁﬁWWQﬁiﬁﬁmmﬂg’iﬁ @qat @9

Define the term ‘sustainable

development’ as under the Brundtland
Report.

_‘Brundtland Report’ < ﬂﬁﬁ@ WW

QIO e/t Ty |

‘Mention  two demerits of per caplta |

income as a tool of measurlng

. development of a country.
L9 R BAE WA st TR LIS
o weRat ot ‘ |

What were the three basic 1ndlcators of
human development before 2010 ?

2010395#%%«3:{«{% foRm R
wifee 2
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(@) What is a ﬁnanci'al‘ system ?
Rém a7 e

. (h) State the components of a financial °

. system..’
RS TR IR S
(i) Define GDP. :
GDP= k@l i
() Differentiate between laboﬁr-force

participation rates and workforce

- participation rates.

=PI SR 29 o s e

TR Ay ey =1
3. Answer any four from the follo§ving£

o 5x4=20

e Rl Rl BR5 e frar s o
(a). State one advantage and one limitation
of the arithmetic me

‘of central tendency.

" A contractor employs three types . of

- workers—skilled, semi-sk:
‘unskilled. To a skilj ¢mi-skilled and

an as a measure

- worker Rs. 400 per a semi-skilled

, unsk;lled'worker Rs. 300yp2??ia§i) Sﬁ
‘a typical day, if the contractor employs
15 skilled, 20 semi-skijjeq and 10
~unskilled workers, find out the average

daily wage paid by the contractor.
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ed worker, he pays -

*0+3=5

R 2R e ot oA oie <t AR
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(b)

Discuss the steps of construction of
consumer price index number.

AT T BT TRY! 4TS I FIER I
State. two limitations of _price index

" number.

Calculate price index' number for 2020
from the following data: 2+3=5

TR 5 AR 75 Mol Fi | o s

7]l 2020- 79 IS AR A I S

Commodities : " Price/"™
AW ~ Rs. per unit/5% afSitre '
: 2010 = 2020
A 10 : 15
B 20 25
C S0 60
D 40 50
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4. Answer any two from the following

(d) What are the core vah ‘ |
a ues of economic questions : ©10x2=20
development ? ,
| - O R R ﬁzwm 719 Ted o 8
= ,\9' B R I TR e » ' - (a) Dlscuss the steps in a sample survey.

Elaborate on the stratified -random

" (e) Briefly discuss the essenfia1' sampling . method using suitable

components of human development example. ' 5+5=10
. B - e ﬁw‘www@mﬁm@%
R S “"‘WH WWW: | TS TS Ao aAfer T 3o =
'(ﬂ . Discuss the role of Purchasing Power ; ' . ® ‘ X::;r;;i ,)the 'different measgiess. 105 '

Panty (PPP) in 1nternat10na.l fi
inance. Calculate standard dev1at10n from the

following date:

| e R TR @it el (PPP)- | . ,
aeﬁaﬁWW| : ﬁw«ﬁfwmwﬁﬁs?wemom
: | gifde Roew st I/
' “. HéW % baaks make profits ? Discuss. | PrO,ﬁt(Rs.»I'akhS] 0-10 10-20 20-30 30-40 40;50.50-60
T T e | e (K 5270) | .
R e T m? W W . . No. of Compames 12 17 23 39 16 03

(h) What are the causes respon51b1e for (c) Explain how Human Develop t
men

the unfavo
urable sex ratio in India ? Index is measured- m India.

mmﬁw%wmmﬁs%?' ] | ﬂmﬂ“mwwmﬂwm
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(d) -Discuss the functions of a financial
system. :

Rty TR PRI I A1
" (e) Discuss the main features of the Indian
 economy that indicate the low state of
development in the country despite the -

impressive growth rates especially in
the last decade.
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